Model Question Paper
Subject : Accountancy
fawg : dEmETE
Class 10+2

fmaH 3fb
Max. Marks : 65

gedl & Gl Gl

Total No. of Questions : 21

e T & JIR 3fh fqavor

Quesionwise Break up of Mark

g He&Al S CARCRNYI EaS|
No. of Question Breakup Marks Total

10 part @ 1
01 10 9T (1) (b 10
02 to 09 02 marks each

(08x02) 16
10 03 marks 03
11 to 13 04 marks each

(03x04) 12
14 05 marks

(01x05) 05
15 06 marks

(01x06) 06
16 to 20 02 Marks each

(05%02) 10
21 03 marks

(01x03) 03
Unitwise breakup Marks & Questions
10+2 Accountancy (@7 %)

PART-A

Accounting for not-for-profit organisations partnership firm & company.

Unit-1 - Accounting for not-for-profit organisations Total
Break up : Questions 01 01 01
Marks 01 + 02 + 05 = 08 marks
Types MC theory (Practical or Theory Choice)
Unit-2 - Accounting for Partnership Firm
Break up :  Questions 02 01
Marks 01 mark each + 02 = 04 marks
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Unit-3

Unit-4

Unit-5

Unit-6

Types MC (Practical)

Reconstitution of Partnership

Break up : Questions 01 01 02 01 01
Marks 02 + 03 + 02 + 0406 = 17 marks
Types Theory (Practical) MC + (Theory or Practical)

Accounting for Share Capital & Debenture

4(i) Accounting for Share Capital
Questions 03 02 01
Marks 02 mark each + 01 marks each + 04 = 12 marks
Types Theory MC Practical

4(ii) Accounting for Debenture
Questions 02 01 01
Marks 02 marks each + 01 mark + 04 marks = 09 marks
Types Theory MC Practical

PART-B (Analysis of Financial Statements)

Analysis of Financial Statements

Questions 03 01 01

Marks 02 marks each + O1mark + 02 marks = 09 marks
Types Theory MC Practical

Cash flow statements

Questions 03 01 01

Marks 02 marks + 01 mark + 03 marks = 06 marks
Types Theory MC Practical
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Max. Marks = 65
Model Question Paper
Subject : Accountancy
ICEE B ECINIEE |
Class 10+2

Time Allowed : 3 hours Max. Marks 65

Note : U39 U3 &1 UeH W& UH (1) dgfdded ISR & & Sl o W07 o dom Wi 9 4 7|
First Question of Question Paper is multiple choice from A and B Part.

Q1. (i) UH BH & QPRI &I YAdH F=T Bl g P

The Minimum number of Partners in a Firm is ?

(a) 2 (b) 7 (c) 10 (d) 20 (1)
(i)  RERI Holg @ (WG H Udh ARGR §RT BH &I AU U For R &

e g |

In the absence of Partnership Deed, interest will be given on partners loan.

(a) 5% p.a. (b) 6% p.a.

(c) 9% p.a. (d) 10% p.a. (1)

(i) T AIEER §RI Fhe dlg Ty WMMA I AR GRE FigaRl F diE] Sl 3 |

The amount of Goodwill brought in by new Partner is distributed among old
Partners

(@) T AU H (in new ratio)
(b) T U H (in sacrificing ratio)
(c) XM 3Urd #H (in old ratio)
(d) & 1 U H & (Not in any ratio) (1)
(iv) SR & AABIA TSI BT I & —
The meaning of retirement of a partner is
(@) foxfl |SER &1 ®H H AT (Incoming of a Partner in a Firm)
(b) fo:dl AEER &1 ®H W dof ST (Outgoing of a Partner from the Firm)
(c) T AEERI BT BH F Fol oMl (Outgoing of all the Partners from the
firm)
(d) 1 AEERI &1 97 & ST (Death of all the Partners) (1)
(v) - W W S BT ®
Income and Expenditure A/c reveals

(a) Hhel oM™ (Gross Profit) (b) & ™M (Net Profit)
(c)  omferad a1 P (Surplus or Deficiency)
(d)  ¥®HE ®IY (Cash Balance) (1)

(viy T gHE TS AEAT W A B R BT B

(Calls-in-Arrears attract interest) :

(@) 10% (b) 6% (c) 8% (d) 9% (1)
(vii) P fEIRAT B o< B

Company gives to the shareholders

(a) HHITE (Commission) (b) gTol (Interest)

(c)  ¥IY (Dividend) (d) & (Profit) (1)

Downloaded from cclchapter.com



(viii) FoT YAl BT A el fhar S dAdar

Debenture cannot be redeemed at

(@)  WIFIH (Premium) (b)  Wer (Discount)
(c) HHHY (Par)
d)  10% W 3 31 (More than 10% Premium) (1)

(ix) el g orgura fdhdHr grar 7 ?
How much is the ideal quick Ratio ?
(@) 1:1 (b) 1:6 (c) 1:2 (d) 2:1 (1)
x) i gw=h foramsl 9 Aes ydre &1 SR B |
(An example of cash flow from Financing Activities)
a) IR Wil @ fdwa (Sale of Fixed Assets)
b) UTEd A YT Adal (Cash received from Customer)
c) MY BT YIIdi (Payment of Dividend)
d) faffar i | U< 3mT (Income from Investment) (1)

(
(
(
(

qHT=A

Part-A
IR oI GIT6Al, AISeRT I T Widl & folU olgidh |

Accounting for not for Profit Organisations, Partnership and Company accounts.

Q2. & ¥ & BH H WiskRR 2| UUH A P YH W g8 T 5000 PI IMERVT BRAT @ |
12% 9fagy @1 &% ¥ a9 2016 H SATERVT W TSl Bl AUFT BIFY |

Mr. Ramis a Partnerin a firm. He draws ¥ 5000 at the beginning of every month. Calculate

intereston drawing @ 12% p.a. for the year 2016. (2)
Q3. W aﬂQHEFﬂT%?

What is sacrificing ratio ? (2)
Q4. Y T BT T ?

What is share ? (2)
Q5. wfd St ¥ @ Afug § 7

What is meant by Reserve Capital ? (2)
Q6. U YF @ uRHE H FA AU 7 ?

What is meant by redemption of debenture? (2)

Q7. 3 Ud I W dAT A2 @ H DI & IR DI |
Differentiate any two points Income and Expenditure A/c with Profit and Loss A/c.

(2)
Q8. 3 & TU W T AU T ?
What is meant by Forfeiture of shares ? (2)
Q9. 3 3R kUT U H T IR T ?
What is the difference between Share and Debenture ? (2)
Q10. TP WH % 300,000 HI YoIl WX ¥ 40000 ¥ FHAMH & | AN o & 10% © | @I
BT I AA—9 BT A9 a8 BT HY & | BH bl &M BT od A DI |

Afirm earned a profit of ¥ 40000 on the capital of ¥ 300,000. Normal rate of returnis 10%.
Calculate the value of goodwill at three years purchase of Super Profit. (3)
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Q1.

Q12.

Q13.

Q14.

fots germ oo & aHy frfaRad oFeT &l S oTg sl BIfvTT
2100 T 100 F0TIH U 2 95 R FRIFIT TT 2110 R YT A7

Journalise the following transaction at the time of issue and redemption. 100 debenture of
¥ 100 eachissued at ¥ 95 and repayable at ¥ 110. (4)

A 3R B AR & ST AT 81 31UI 3:2 8 | 1 SFaR] 2015 I d C I BH H Jd=T o+ el

I AT H 1 /4 37 <7 & foTg F8Hd 81 97T | C 26000 Yol & oIy T2 2 4000 19T

@I & 24 @ fo1g Fag arar 2 | S+a | snmagyes gfafkedl HifTg | S1a i @ Il &f BH
HEIREI2d & |

Aand B are partners’ sharing profitand losses in the ratio of 3:2. They agreed to admit C into
partnership on 1stJan, 2015 and give him 1/4th share of profit. C brings ¥ 6000 for capital and
¥4000 his goodwill. Pass necessary journal entries when goodwill is retained in the firm. (4)

or 37dl
Y WISIER & Y31 & A G Gd SRl & G cidd & e | a7 STel grafeear ol
SINIES
Atthe time of admission of a partner what journal entries are passed for Revaluation of Assets
and Liabilities ? (4)

Qb ¥ 100 ATCAT 3737 3T IR 80 HITATY 1Y 2F 3R ¥ 60 UTK §Y Pl STl PR (o707 1T | AMS 54
321 T % 70 ¥ YUT FHdT A1 B B DI Y: FRIHT = AT 747 81 1 3112 A<=
PICIESUIICE IR

Ashare of ¥ 100 onwhich 80 has been called up ¥ 60 has been paid is forfeited. Pass
necessary journal entries if itis reissued to B @ 70 as fully paid up. (4)

T & AT WTd doIT STg—ad @i H 3Tk foalay |

Write difference between Receipts and Payments Accounts and Income and Expenditure
Account.

OR 372ra1
U Fo1d B [ fIaRoT W S—agyg WTdT dIR BT |

Prepare Income and Expenditure A/c from the following particulars of a club.

Receipts & Payment A/c for the Year ended 31st Dec., 2015

Receipts Amount Payments Amount
To Balace b/d (YR ) 26750 By Salaries (dd+) 22500
To Subscriptions (2IaT) By Postage (ST&% @) 950
2014 1250 By Rent (fa=mam) 9000
2015 52500 By Printing and Stationery
2016 _ 750 54500 (BUTS T kg ATHT) 2800
To Donation for swimming By Furniture (%11 )
Pool (cRTa! T1ettd & foly &) 75000 (Purchased on 1.1.2015) 35000
To Entrance Fees (Revenue) By Investment (faf=am) (31.12.2015) 62500
9T 3o 750 By Sports Material (&eT A1) 10000
To Sale of old Furniture By Misc. Exp. (fafder =21) 3500
LB REIENCIRGE D) 1500 By Bal. c/d (31f~TH ) 12250
158,500 158,500
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Q15.

LAY -

() a9 2015 BT =T ¥ 2500 3G ¢ |

(i) ~ WATER UR 10% BT 18 | 31 fGHHR, 2015 BI el AT T Hedid+1 T 9000 b
T |

Information :

(i) Subscription of ¥ 2500 outstanding for 2015.

(i) Depreciate furniture at 10% and Sports material is valued at ¥ 9000 on 31.12.2015

(5)

31, 9 AT | AR I ST {6 a1 816 BT 3:2:1 & IFuTd H fIA1RId vt & | 31 fagwaR 2014
DI T Rerfet faaRor for o |

A, B and C were partners sharing profits and losses in the proportion of 3:2:1 respectively. The
Balance Sheet of the Firm on 31st December, 2014 was as follows :

Liabilities Amount Assets Amount
Sundry Creditors CashatBank RI#s §& ) 2500
(fafaer o9 eR) 19000 Debtors (G98R) 16000
Bill Payable (31 fau=) 5000 Less Reserve 500 15500
Reserve Fund (F=r f1e)) 12000 Stock (¥h+e)) 25000
Capital Accounts (4ST @ITd) Motor Vans (HIex a) 8000
A 40000 Plantand Machinery
B 30000 GRERSIREEIERN)) 35000
C 25000 95000 Factory Building
(PTRIGTAT ¥g) 45000
131,000 131,000

B 11 21df UR 1IN UV R oIl & | (i) =TI T e € 18000 H fham SIQ o arg 4
JuferRad &R T T (i) FI=1 3R AT TR 10% TAT HICR 99 WR 15% &I & H BT 9T
2; (iii) TP BT DI BT 20% TAT BIRETHT Ha7 B BHIFT BT 10% A TG 2; T (iv) 3T 0T
@ ToTg e I 21950 ¥ IR ST © | YD QI Yoil W d B & DI U8 & 18

&1 g1 9181 |
B retires on that date subject to the following adjustments : (1) Goodwill of the firm to be valued

at 318000 and is to be written off later on; (ii) Plant and Machinery to be depreciated by 10% and

Motor Vans by 15% (iii) Stock to be Appreciated by 20% and Building by 10% and (iv) The
Reserve for Doubtful Debts to be increased by ¥ 1950. Prepare Revaluation, Partners capital
A/c and the Balance Sheet of the firm after B retirement. (6)

3ferT or
qd AEIGR DI <G RN B TUET Al 3D YA PR DI AT P17 9ol & |

Explain the procedure of determining the amount payable to deceased partner and different

ways in which amount is paid.
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Q16.

Q17.

Q18.

Q19.

Q20.

Q21.

TT—4 _(foxfa_ faaron &1 fagerson)

Part-B (Analysis of Financial Statement)

el Pl @ AT o uga RerfQy faaRvr & uRwufy uel & v efviapi & =17 fora |

Name the major heading of the assets side of a Company’s Balance Sheet organised

and presented. (2)
fo<ir faa=ont & @ efurr ® ?
What is meant by Financial Statement ? (2)

JeTd Refd fyaxor @ gar g 2

What is Comparative Balance Sheet ? (2)
e YdIE 4§ @1 AR § 7
What is meant by Cash flows ? (2)
A.B. Ltd. gave information its Revenue from operations and Gross Profit.

2010 2011
(fdel) Sale 20000 25000
(FheT <) Gross Profit 5000 8000 (2)

2010 3R 2011 & foIU Ida o™ (G.P. Ratio) ST ®HIFNTY |

= fAaRon & deares fhameil ¥ bs b1 RGBT BT |

Compute cash from operating activities from the following details.

2012 2013

A8 T (Profit and Loss A/c) 110,000 120,000
T9ER (Debtors) 50,000 62,000
are foram (Outstanding Rent) 28,000 42.000
@I (Goodwill) 80,000 76,000
gacd dMT (Prepaid Insurance) 8,000 4,000
JFER (Creditors) 26,000 38,000

)
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THAT URAUA Pl gl
Solutions of Sample Question Paper
Accountancy 10+2

i) (a) 2

i) (b)) 6%p.a.

i) (c) Sacrificing Ratio (T 317UTd)

iv)  (b)  Outgoing of a Partner from the firm &=l AR & BH A Tl ST

V) (c)  Surplus or Deficiency 3T a1 HHI

Vi) (@ 10%

vii)  (c)  Dividend oTm¥reT

vii)  (b)  Discount@®erl

iX) (a) 1:1

X) (c) Payment of Dividend SITHT2T T YT (1x10=10)

rate , 6%

Int. on Drawings = Total Drawings x 700 X 12

Total Drawings = 5000 x 12 =60,000

. 300 xz1x£ /
Int. on drawings = 68600 106 * 24, 3900 (2)
IE 31T o HH & JR WAIEIER & el H T 6 & fordl Aewd Bl T JIJUTd HEerdl &
SHD! MO 71 G §RT DI S 2 |
Sacrificing Ratio = Old Share —New Share (2)
gert Yol arell Bl Bl Yol BIE-—BIc! ghbrgal § faurid gidl € | 39 B 318 a1 37
(Share) T&T SITdT & IR HFI @l Yofl T 31T Yol HEd & | (2)

BT SAIH & TR HFIT T (IS U1 UTH b =1 AR 75 Yol @ BT 91T i
eI (Reserve) A9 AT & FORNT dael HHI=T & THIY a1 Rerfel # 81 AT ST HahaT 2 |

(2)

FOTYAT & T 3 AU FEOTIS BT LT DI FOTIHTRAT YA BB, 0T U3 & Uil ST
DI FHATK HRAT TAT BT LT 00 T BT ol & STFAR (FiRed 99g & 91e fdam Siren

= (2)
SIISIN 3 G g Tl RIGICRIIERCI G}
1. TR | I8 T F S dTell FRITell gIRT T IE T HH dTel] Fxerelf
ST | ST 7T ST © |
2. SR N QT &1 = Ie29 A HT I W IUAT |39 WA & T/ S22 TF
SR BT 3T WX AR AT HRATBIATE | |9 G BT ST BT BT 2 |

(2)
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8)

9)

10)

11)

12)

IS PIg TR AT TAT fHAT AT MR BT AT Tl BRaAT AT B §H A1 BT TSl
AT YA B BT ACH AoTdl & IS T8 R Wl YA T8l BT Al HFII Dl U AR
@ 373} BT BT B BT TGN I 72N BT B0 HET ST 2 | U SR vl B IORER A

gl fag SIrdT 3R SS9y 9T 379 ddb Y I3 STed B ofl el © |

(2)

SICIN 39T EAILE]

1. UGRT | T HH BT YT BT U 9T 81T § | | F0TUS HHI1 & F0T 6T U W BT ¢ |
2. 9R® | 3 B YRD DI TR HET AT 8 | | FEUTTH & URD DI FEUTIHALIR] BT STl © |
3. Ry | e v B AIfTp Bl 2 | UE P P ER B 2 |

4. gRen | afer R T8 B | FOTIH GRIET B 2 |

Normal Profit= Cap. Invested x_Normal rate of return

100
=Normal Profit = 3,00,000 x 7@ =30,000

Super Profit = Actual / Average Profit— Normal Profit

Super Profit=40,000-30,000 = 10,000

Goodwill = Super Profit x No. of Year purchase

Goodwill=10,000 x 3=30,000%

Journal Entries :

3)

Atthe time of Issue Atthe time of Redemption
BankA/c - Dr9500 DebentureAlc  — Dr. 10,000
Loss on Issue of Debenture A/c— Dr 1500 Premium on Redemption

To Debenture Alc - 10,000 of Debenture — Dr. 1,000
To Premiumon ToBankA/c 11,000
Redemption of Debentures 1,000 (Being debenture Redemption

(Being Debenturesissued at ¥95
and Repayable at ¥ 110)

at Premium)

Journal Entries

(4)

Date Particulars LF Dr. Cr.
Amount Amount
Jan. 2015 Cash/BankAlc —— Dr 10,000
To C’s capital Alc 6000
To Premium for Goodwill A/c 4000
(Being amount of Goodwill & Capital
brought by C)
~ Premium for Goodwill A/c- Dr . 4,000
ToA’s capital A/c 2400
ToB’s capital A/lc 1600
(Being Amount of Goodwill Crto old
Partners’s capital A/cin their sacrificing
ratio)

Downloaded from cclchapter.com



srerar OR

(Being decrease inthe
value of Assets)

|qrfrl & 90 H ghg B R
S/AssetsAlc Dr
(By Name)

To RevaluationA/c
(Beingincrease in the value of Assets)

IRl § & B W)

S/Liability A/c Dr

(By Name)

To RevaluationA/c

(Being value of liability decreased)

STl 9 gfg B9 W

RevaluationA/c Dr

To S/ Liability A/c (By Name)
(Being value of liability is increase)

Ife BIg AT GTHATHT IR &
RevaluationA/c Dr

To old Partner’s Cap.A/c

(By Name)

in old Ratio

(Being Profit on revaluation transferred
to old Partner’s capital A/cin old Ratio)

Ife B1E B gedia w8

Old Partner’s Capital A/c - Dr.

(By Name)

To RevaluationA/c

Being Loss on revaluation transferred
toold Partner’s Cap.A/cin old Ratio

Date Particulars LF Dr. Cr.
Amount Amount
| & 70 H I 8 TR
RevaluationA/c Dr
To S/ Assets (By Name)
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13)

14)

Date Particulars LF Dr. Cr.
Amount Amount
Share Capital A/c Dr. 80
To share unpaid callA/c 20
To share forfeiture A/c 60
(Being share forfeiture for Non-
Payment of Call)
BankA/c Dr. 70
Share forfeiture A/c Dr. 30
To share capital 100
(Being forfeiture share Reissued to be
at ¥ 70 fully paid up)
Share forfeiture A/c Dr. 30
To Capital Reserve A/c 30
(Being Balance of share forfeiture A/c
T/Pto Capital Reserve A/c)
(4)
TR EIERUNIBRCINI Y 9 g Qe
1. Tepfar I8 b AT (real) @IAT S | I Qb AT (Nominal) Te 2 |
2. 3% 9 W B I BT I I $H W@ B 9 BT I3 I3 Uah AR
Teh AR orafer R e o <Al 3FafS B I UIETdl g FT & g ReIHf
B AT BIAT R | (3TTfereRT IT HHY) BT ST BIAT R |
3.3 AN | I & 31 H Ug W@ral ifcH Adhs 9 W BT 37 2 17T BT g IR
Y qAT I AY Y& fId Hal & | (surplus) 31erdT 1 BT 31T TR AT 3rIid
BHI (Deficit) fammar 2 |
4. 91 B UPR | SHH ST QAT YoiTd QT IHR SIH Bdcl AT Hal BT g Sar g |
DI AT BT fe@mar SIar |
5. Rerfay faaror| 39 @t & wrer Rerfy faaor = 9 @1 & A1ef Reafy faa=or g9 etrawaras
IR & BIaT | BIATE |

37qdr or

()
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Income & Expenditure A/c
as on 31st Dec., 2015

Dr Cr
Expenditure Amount Income Amount
To Salaries 22,500 By Subscription 52500
To Postage 950 (+)Add O/standing _2500 55,000
To Rent 9,000 By Entrance Fees 750
To Printing & Stationery 2,800
To Misc. Exp. 3,500
To Depreciation on
furniture
(10%0on¥35000) 3500
Sports material
(¥10,000-%9000) 1000| 4,500
To Excess of Income
over Expenditure 12,500
55,750 55,750
(5)
15) Revaluation Account
To PlantAlc 3500 By Stock 5000
To Motor Vans A/c 1200 By BuildingA/c 4500
To Reserve for D.
DebtsA/c 1950
To Profit
A capital 1425
B’ capital 950 2850
C’ capital 475
9500 9500
Partners’ Capital A/c
Particulars A B C Particulars A B C
ToB’s Capital | 4500 - 1500 | ByBalanceb/d [40000 | 30000 | 25000
Alc
ToB’sLoan - | 40950 - By Reserve
Alc FundA/c 6000 4000 2000
ToBal. c/d 42925 - 25975 | By Revaluation
Alc 1425 950 475
By A's capital Alc - 4500 -
By C’scapitalA/c| - 1500 -
47425 | 40950| 27475 47425 | 40950 | 27475
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Balance Sheet of Aand C

Liabilities Amount Assets Amount
S. Creditors 19000 Cash atBank 2500
B/P 5000 Debtors 16000
B’'sLoanAlc 40950 Less Provision 2450 13550
Capital A 42925 (=) forD. debts
C 25975 8900 Stock 30000
Motor Vans 6800
Plant & Machinery 31500
Factory Building 49500
133850 133850
(6)
aizrar OR
H ATSER BT T IR BT TOMT 59 TR Bl & —
(a) D AFR W i) s au & o TER W i) fUoe &3 a8t & IiFd v
P IR W
(b) B & MR W
i) el 98 & oM SR R — 39 R # 7T 98 &1 A {337 737 8171 © | 59 o™ & JMER R Ja
AR &I J& B! I T & 1 B 0T B SR © |
i) o oS a8l & Sd A & YR WX :— 9 &2 H 9d AERR & a™ &I qoHr Fiad a6t &
3ITA T (Average Profit) @ SITER TR @1 STl @ | F&T 3T o (Average Profit) Faf @l (Total
Profits) &1 o9 & q8T I T TR ST (hAT ST © |
(b) I & MR W — B RAf! # 9d WIERER & o™ &1 701 {53 & R W e & forg wgad 81

16)

S © | 39 S0 H Ul 99 &1 o 9 fasha Q41 Y SIeE o 9a AisiarR ol iy aa are] fam |t &

ST | TBT ST 1 0T SUTcTeh fAshd & TR IR BT G ST & SR UR el AISER & ¥ DI 0MT 5
EARRIRISEASRIES

A AR B A S AR — (1) U 92 00 H I (2) ol @I @it B e

(1)

T g2 IR H IdE — 39 Ay § 9gae diEeR & dunfie g o diEer R @ yram
THE T AP gINT {1 ST & | 9 fory et ufafte 978 Sl 2 |
Deceased Partner’s Capital A/c Dr
To Cash/BankA/c
(Being amount due to deceased Partner Paid off)

T QAT WADR — Fia AISERT &4 e AISIER DI < R BT YA aeH A= A Tl DR
foam S o7t < /IR D1 S WIHIER & T & U H A1 PR ST W Wl BR SRR bR g7
ST & | $99 20T UR BH TSl T I 4T el © | 39 i R 711 gfafte 9418 el & |

Deceased Partner’s Capital A/c Dr
To Deceased Partner’s LoanAlc
(Being Balance of Deceased Partner’s Cap.A/c T/D to hisloanA/c)  (6)

1 NON-CURRENTASSETS
2 CURRENTASSETS (2)
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17)

18)

19)

20)

21)

ot faramomt < erfiuma amvedr g fa<ia Refay sam™ arer faaxoent &1 faxii faaxor we1 51T & | SeexeT &
fory < g =1+ mar (Profit & Loss A/c) @ Rerfer faaror (Balance Sheet) afe fa<iia faaxor &F wge oxd & |

@)

JerTeTa Rerfer faavor # vas €1 o & <1 a1 &1 ¥ 31fdres asf & Rerf fdavoll (Balance Sheet) # w919 #al,
HaI & el Ud GIfod ARl @ gy & egdd &l Joread Rerfer faaxor et Sar 2 | )

e YaTe ¥ IMAYTT 6 A (Cash) T2 Adhe FAG & Aial (Sources) AR ST (Uses) & 2 | 3raifq

g fIaR0T Adre & 9819 DI fe@™ & ford aamr Smar 2 | @)
G Profit
Gross Profit Ratio = ——> "1, 400
Net Sale
5
for2011 = 2559'%& x 108 = 25%
1 4
for2012 = 8608 x466=32% (2)
25666

Cash Flow from Operating Activities

3

Statement of Profitand Loss A/c 10000
during the year
(+)  Add:Non-Cashitems

Increase in outstanding Rent 14000

Goodwill written off 4000

Decrease in Prepaid Insurance 4000

Increase in Creditors 12000 34000

44000

(=)  Less:Increasein Debtors 12000 12000
Netincrease in cash from operating Activities 32000
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